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2.  TFS 1A AB = 8cm , ZA = 30° ¥ o, x,y o] Zo|= F5foizt.
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O|AF R y = x* - 8x + a9 LI L} xF3HO] WA O] xZET} 6, b
A, a+bo] F27
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RE A xof ool B54 ka? - 2(k - 4)x +2 2 0°] FHot=S
SH= A% ko] ghel WeIe?
D k<-2 @ -1<k<2 ® 1<k<8

@ 2<k<8 ® k<8



A (4,7), B (3,2), C (5,3), D (x,y) °ll Histo] A2} ABCD 7} 53}
AP o, y - x o] 3ES FotofEt.
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@ sin?30° + cos?45° = 3

@ sin0°xcos30°+ cos60° X tan45°

® cos0°xsin90° —tan45° x cos60° =

Ae BF =9 (A 27)
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@ sin60°xsin0°+ cos30°x cos0° =1

® sin90° X cos 60° — cos 90 ° X tan 60 °
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D 4v2cm @ 4+v3cm ® 6cm
@ 842cm ® 84/3cm
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AABC O H2H A ©] 2171 (5,6) ©13L FAFAH GO 37t (3,4)
2 o, 9 BC o] $H ] #3x=?

@ (1, 2) @ (2, 5) ® (2, 3)

@ (3, 4) ® (4, 5)
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